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Th7.16 Let F be a field
.

2-et G be a finite subgroup of F ! } e = I
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Then G is cyclic .
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Let G be a group..

Let ee G be an element of G of the largest order.
Then for every ae

G (of finite order)
,
we have tall let Cuot merely

late let )

Th 7.9 G)

Let G be a group .

Let aEG
,
laI = h

.

alee if and only if nlk
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If ae- F is a soot

,

then

Let F be a field
.

Let f EFEx]
, degf - h . f- = G-ask degf ⇐ deghtt

Then of Las at most h Soots HE f- Ex]



Pf @f Tha . 16)

Since G is finite
, every

its element has a finite order
,

and these are

finitely many elements . Thus there is an element , call it e EG of
the maximum order

.

Goal : G = Les .
Obviously , Les E G
- -

Let let = we ( the maximum order for an element of G )

By Car2.10 , for every ae- G, fallen .
Thus

, by Th7.94) , a
"
-
- e = IF

That is : every a e- Gc F
't

is a root of the polynomial
xw- I E F Ex] deg GM- le ) = we

Cork
.
It allows us to conclude that

IGI fur

At the same time
, Kc > I = let @yTh7.l5 )

Kc > I = we cc > E G l G le tu

be thus conclude that cc> = ⑤ ( the subset Les exhausts G )
I-

G is eye lie .


